Math 171 - Quiz 8 Name keg
October 28, 2010 Score

Show all work to receive full credit. Supply explanations when necessary.
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1. (6 points) Consider the function f(z) =

e Find open intervals on which f is increasing/decreasing.

e Identify all relative extreme values.

e Find open intervals on which the graph of f is concave up/down.
¢ Find all inflection points of f.

e Sketch a detailed graph of f.
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2. (2 points) Give an example of a rational function whose graph has vertical asymptotes

z = —2 and z = 3 and horizontal asymptote y = 3/2. Write your final answer as the
quotient of two polynomials, with the numerator and denominator in expanded form.
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3. (2 points) The table below gives the values of a function f and it first two derivatives
at selected values of . Determine which row gives the data for f, which row gives the
data for f/, and which row gives the data for f”. Explain your reasoning.

x 0.0010.3310.661{ 1.00 1.33 1.66 2.00|. 2.33 2.66 3.00
A(z) [0.00 [ 064 | 1.14 [ 1.38 | 1.28| 084| 008| —089 | —1.91 | —2.83
B(z) [ 000011 | 041|084 | 1.30| 166] 1.82| 169| 1.22] 042
C(I) 2001178 11161024 | —0.83 | —1.85 | —2.65 | —=3.07 | —3.00 | —2.40
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